



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CSC 302					CSC 401					CSC 503					CSC.305					CSC201					CSC311-8				
		Programming Fundamentals					Data Structures & Algorithms					Artificial Intelligence					Introduction to Software Engineering					Computer Organization & Assembly Language					Web Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-M-B-0086	Haseeb Ur Rehman	-	-	-	-	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	74	B	3.0	4	12.0	70	B	3.0	3	9.0	
B.S CS Aut-2022-M-C-0159	Muhammad Ali	-	-	-	-	60	C	2.0	4	8.0	44	F	-	4	-	74	B	3.0	3	9.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS Aut-2022-M-C-0180	Usama Rehman	-	-	-	-	-	-	-	-	-	40	F	-	4	-	89	A	4.0	3	12.0	-	-	-	-	83	A	4.0	3	12.0		
B.S CS Aut-21-M-A-0031	Muhammad Zeeshan	-	-	-	-	-	-	-	-	-	55	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0061	Abdul Basit Haroon	-	-	-	-	-	-	-	-	-	40	F	-	4	-	-	-	-	-	-	74	B	3.0	4	12.0	60	C	2.0	3	6.0	
B.S CS SP-2023-M-B-0063	Abubakar Shafaqat	-	-	-	-	-	-	-	-	-	56	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS SP-2023-M-B-0064	Alishba Iqbal	-	-	-	-	-	-	-	-	-	57	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-M-B-0065	Aman Zaheer	-	-	-	-	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2023-M-B-0066	Ameer Hamza	74	B	3.0	4	12.0	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0067	Ammar Khalid	-	-	-	-	-	-	-	-	-	40	F	-	4	-	-	-	-	-	-	74	B	3.0	4	12.0	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-B-0068	Asadullah	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS SP-2023-M-B-0069	Asma Saeed	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
B.S CS SP-2023-M-B-0070	Bilawal Riaz	-	-	-	-	-	-	-	-	-	59	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS SP-2023-M-B-0071	Bushra Rasheed (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-B-0072	Hafiz Abdullah Naeem	-	-	-	-	-	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS SP-2023-M-B-0073	Haider Ali	-	-	-	-	-	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-M-B-0074	Hamza Ali Khan	-	-	-	-	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5		
B.S CS SP-2023-M-B-0077	Iqra Shaheen	-	-	-	-	-	-	-	-	-	59	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	68	C+	2.5	3	7.5		
B.S CS SP-2023-M-B-0079	Kshaf E Noor Malik	-	-	-	-	-	-	-	-	-	50	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5		
B.S CS SP-2023-M-B-0080	Mahmood Ali	-	-	-	-	-	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0		
B.S CS SP-2023-M-B-0081	Masood Imtiaz	-	-	-	-	-	-	-	-	-	37	F	-	4	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0082	Moteen Irfan	-	-	-	-	-	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0083	Muhammad Abbas	-	-	-	-	-	-	-	-	-	37	F	-	4	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-M-B-0084	Muhammad Aftab	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5		
B.S CS SP-2023-M-B-0087	Muhammad Faizan Ali	74	B	3.0	4	12.0	-	-	-	-	40	F	-	4	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0089	Muhammad Ibrahim Nazir	-	-	-	-	-	-	-	-	-	38	F	-	4	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0090	Muhammad Junaid Basit	-	-	-	-	-	-	-	-	-	27	F	-	4	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-M-B-0091	Muhammad Naveed	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0		
B.S CS SP-2023-M-B-0093	Muhammad Sheheryar	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section B, Morning, Session Autumn 2025

		CSC322-1					CSC-403					CSC505					CSS301					SSC303					SSE505													
		Compiler Construction					Database Management Systems					Numerical and Symbolic Computing					Multi-Variate Calculus					Operating Systems					Object Oriented Software Engineering													
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product									
B.S CS Aut-2022-M-B-0086	Haseeb Ur Rehman	50	D	1.5	3	4.5	55	C	2.0	4	8.0	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0						
B.S CS Aut-2022-M-C-0159	Muhammad Ali	19	F	-	3	-	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0			
B.S CS Aut-2022-M-C-0180	Usama Rehman	85	A	4.0	3	12.0	-	-	-	-	-	97	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0		
B.S CS Aut-21-M-A-0031	Muhammad Zeeshan	56	C	2.0	3	6.0	-	-	-	-	-	38	F	-	3	-	-	-	-	-	-	-	-	-	81	A	4.0	4	16.0	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2023-M-B-0061	Abdul Basit Haroon	52	D	1.5	3	4.5	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2023-M-B-0063	Abubakar Shafaqat	84	A	4.0	3	12.0	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-B-0064	Alishba Iqbal	65	C+	2.5	3	7.5	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-B-0065	Aman Zaheer	28	F	-	3	-	-	-	-	-	-	97	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-B-0066	Ameer Hamza	31	F	-	3	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-B-0067	Ammar Khalid	23	F	-	3	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	74	B	3.0	4	12.0	-	-	-	-	39	F	-	3	-		
B.S CS SP-2023-M-B-0068	Asadullah	98	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	
B.S CS SP-2023-M-B-0069	Asma Saeed	92	A	4.0	3	12.0	-	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5
B.S CS SP-2023-M-B-0070	Bilawal Riaz	55	C	2.0	3	6.0	-	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0
B.S CS SP-2023-M-B-0071	Bushra Rasheed (Withheld due to F)						-	-	-	-	-						-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2023-M-B-0072	Hafiz Abdullah Naeem	80	A	4.0	3	12.0	-	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5
B.S CS SP-2023-M-B-0073	Haider Ali	50	D	1.5	3	4.5	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5
B.S CS SP-2023-M-B-0074	Hamza Ali Khan	20	F	-	3	-	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	71	B	3.0	4	12.0	-	-	-	-	60	C	2.0	3	6.0		
B.S CS SP-2023-M-B-0077	Iqra Shaheen	58	C	2.0	3	6.0	-	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5
B.S CS SP-2023-M-B-0079	Kshaf E Noor Malik	61	C	2.0	3	6.0	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5
B.S CS SP-2023-M-B-0080	Mahmood Ali	65	C+	2.5	3	7.5	-	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0
B.S CS SP-2023-M-B-0081	Masood Imtiaz	62	C	2.0	3	6.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0
B.S CS SP-2023-M-B-0082	Moteen Irfan	41	F	-	3	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0
B.S CS SP-2023-M-B-0083	Muhammad Abbas	38	F	-	3	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5
B.S CS SP-2023-M-B-0084	Muhammad Aftab	85	A	4.0	3	12.0	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0
B.S CS SP-2023-M-B-0087	Muhammad Faizan Ali	62	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	81	A	4.0	4	16.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2023-M-B-0089	Muhammad Ibrahim Nazir	59	C	2.0	3	6.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0
B.S CS SP-2023-M-B-0090	Muhammad Junaid Basit	50	D	1.5	3	4.5	-	-	-	-	-	71	B	3.0	3	9.0	74	B	3.0	3	9.0	67	C+	2.5	4	10.0	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0
B.S CS SP-2023-M-B-0091	Muhammad Naveed	91	A	4.0	3	12.0	-	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0
B.S CS SP-2023-M-B-0093	Muhammad Sheheryar	70	B	3.0	3	9.0	-	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 6th Semester, Section B, Morning, Session Autumn 2025

Registration #	Name	CSC 302					CSC 401					CSC 503					CSC.305					CSC201					CSC311-8				
		Programming Fundamentals					Data Structures & Algorithms					Artificial Intelligence					Introduction to Software Engineering					Computer Organization & Assembly Language					Web Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2023-M-B-0094	Muhammad Sohail	-	-	-	-	-	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-B-0095	Muhammad Usman	-	-	-	-	-	-	-	-	-	51	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	
B.S CS SP-2023-M-B-0098	Noor Ul Eman	-	-	-	-	-	-	-	-	-	59	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	
B.S CS SP-2023-M-B-0101	Samreen Yaseen	-	-	-	-	-	-	-	-	-	60	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-B-0103	Simra Bibi	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-B-0104	Syed Jawad Iftikhar	-	-	-	-	-	-	-	-	-	42	F	-	4	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-B-0105	Ummar Tariq	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	
B.S CS SP-2023-M-B-0106	Wajahat Asad	-	-	-	-	-	-	-	-	-	50	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	
B.S CS SP-2023-M-B-0107	Zeeshan Haider	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	
BS CS Aut-20-E-B-0164	Hammad Ahmed	-	-	-	-	-	-	-	-	-	37	F	-	4	-	70	B	3.0	3	9.0	-	-	-	-	-	36	F	-	3	-	
BS CS SP-21-M-C-0154	Ummar Bin Zulfiqar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	35	F	-	3	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 6th Semester, Section B, Morning, Session Autumn 2025

		CSC322-1					CSC-403					CSC505					CSS301					SSC303					SSE505				
		Compiler Construction					Database Management Systems					Numerical and Symbolic Computing					Multi-Variate Calculus					Operating Systems					Object Oriented Software Engineering				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2023-M-B-0094	Muhammad Sohail	41	F	-	3	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-B-0095	Muhammad Usman	75	B+	3.5	3	10.5	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-B-0098	Noor Ul Eman	88	A	4.0	3	12.0	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS SP-2023-M-B-0101	Samreen Yaseen	82	A	4.0	3	12.0	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	
B.S CS SP-2023-M-B-0103	Simra Bibi	90	A	4.0	3	12.0	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS SP-2023-M-B-0104	Syed Jawad Iftikhar	67	C+	2.5	3	7.5	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-B-0105	Ummar Tariq	87	A	4.0	3	12.0	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	
B.S CS SP-2023-M-B-0106	Wajahat Asad	75	B+	3.5	3	10.5	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS SP-2023-M-B-0107	Zeeshan Haider	90	A	4.0	3	12.0	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	
BS CS Aut-20-E-B-0164	Hammad Ahmed	22	F	-	3	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	32	F	-	3	-		
BS CS SP-21-M-C-0154	Ummar Bin Zulfiqar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026